Important Questions Class 10 Sanskrit Chapter 5
LRLURGIIE]

T fg AgsaTon TR g8 Ry |
Uy 1. 3o fb afRomrafa? (wWhat does laziness bring about?)

IR : AR gRumIfd gmon IRRRA T8 RY: | (Laziness is a great enemy of human

beings in terms of physical well-being.)

Toft qui afer = afr o,

Uy 2. Bl {[Uﬁ Td afr? (Who understands the qualities?)

3R : ﬁUﬂﬂUTaﬁﬂ (The wise person understands the qualities.)

g i 9 wgwfa,

uy 3. & Wlxlﬁf Y:? (What makes someone angry?)

3 : ﬁ&lﬂﬂ@'@ IR W@ﬁfl (One becomes angry due to external causes.)
Iifvarsd: v e,

uy 4. b q'f{FlTﬁ 113]?[ Idifearsd: 2 (What is accepted even by animals when

understood?)

I : IaiRdisd: tI'QJFITfEf‘]'&'J?H (Even animals accept understood meanings.)

Il fg 2rg: TyE! R0,

Uy 5. P1Y: & gyt TF: FRIUT? (What is the primary enemy of humans?)

IR : Dl g RIEE TH] =RT0T | (Anger is the primary enemy of humans.)

T G WA,

U4 6. % HIT: 'Fﬁ: Wﬁfﬁf? (Which animals move together with other animals?)

3} : HIT: Iﬁ: Wﬁﬁl (Deer move together with other deer.)
Gfdaat HeIge: TaS A G: |

uy 7. f% we A& afe 1?2 (What fruit is not there if there is no shade?)



IR : ol AR I a1 S/ Hard | (If there is no shade, there is no fruit.)
SR IR, e FaA-aew|

Uy 8. fh AT 3M~H&R ATfXI? (What is there when there is no unpronounceable
syllable?)

TN : AR AR | (There is no unpronounceable syllable.)
Tl T faus 9 AgdmeEudn|
WY 9. BV TU gary Ju T faus g gu= vafa?

(In what form do prosperity and adversity become the same for great people?)

IR : Iusi 9 fausir g HedH Uh =Udl yafd| (Prosperity and adversity become the same in
the form of equality for great people.)

fafe> g SR A fefErdeq)
¥4 10. %ﬁﬁﬁ%w:ﬂ%ﬁ?m? (What is not meaningless in this strange

world?)

3I: : fafA Wﬁ%ﬂﬁﬁ?ﬂ?ﬂl (In this strange world, nothing is meaningless.)





